(3)

TSW
ownloaded From www.castudynotes.com
If there are 3 observations 15, 20, 25 then the sutyu of deviation of the observations
from their AM is

A 0
B. &
S =B
D. 10

For any two dependent events A and B, P(A)=5/9 and P(B)=6/11 and
P(A ~ B) = 10/33. What are the values of P(A/B) and P(B/A)?

A. 59, 6/11

B. 56, 6/11

C. 1/9, 2/9

D. 29 49

In a study about the male and female students of

departments of a college in 5 years, the following data’s we ined:

1995

70% female students 75% female ts .
65% read Commerce 40% read
20% of male students read Science  50% of

3000 total No. of students 360

After combining 1995 and 2000 if x denote& ratio of fi
‘female Science student and y denotes th ratio of ma

Science student, then

A— X = y $
B *>Y < &
C. X<y :
D. ey b,Q

S L
If the AM and GM for lrgguervamng: ire b

A less than 15 ,&
B. more than

C. 15 O
D. cannot bgeternmmd ,.

The average number of advertisel
the probability that in a pars
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12.

13.

L}

15,

16

The number of four lotter words can be f0Ft
DECTIONARY is

A 5040
B 720
SR ! )

D. 30240

. ETROL" such that
The number of words that can be formed using the letters of “P L" su
the words do not have “I in the first pnﬂl“ﬂﬂ. in '

A 720

B 120

- HOO

D 540

If the sum and product of three numbers in G.P. are 7 and 8 N&ﬂ”‘y then ’ =
term of the series is

A. 6 \Q,%

“. " QO

] 8

D 16 0&

Mr. X wants to accumulate T 50,00,000 nt (Qnd of 10 years. Then .
amount is required to be invested every ye intorest is compounded amm
10%7 (Given that P(10,0.10) « 15 9:1?4:&!@&k

A T3.13,726 87 &

B 041372687 o

C. %353726.87 <&

D. T45372687
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19.

: b
Downl! aﬁeff Fr @Wbm&ntm
Let a= 5*5)’('1/59’ 3 and
A 64
B. 62
60
5. 254 in the ratio 4 : 5.

and their expenditures &7 L vings?

Incomes of R and . ;
Their total expenditure 18 equal to income

uh”3=x.,d“”4=y.ﬂwnthcvﬂu:b ,,120canbeexpruaedu
A zx-y+1 $0
B xz+y+1 $
C. x+y-1 $
D 2x+y-1 0@ |

< f -
XYZ has a iunu-uitmentas:xtshouldnot_zgcrmtmthnn
mmm (7).Howunthiafactbeexpnmdmmth‘ly"_ :
A 3y28z Q>
B dysxi8 O
D Bys$O
Find

the value of log(x" ) if log(x) + 2log(x") + 3log(x") = 14,
A
B.
&
D.

L~ R

TSw
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Which of the following pmdmugand’r-mmmmmlﬁm

A E=(Ram'sngei313}lndl'=mlmhlmmm‘mm'.) :
B E- {Sita studies in n school) and F = (Sitaia a play back singer) B
C. E = {Raju is an elder brother in a family} and F = {Raju's father has more
one son)
D. E = (Banu studied B.A. English literature} and F = (Banu can read English

novels)

Four unbiased coins are tossed simultaneously, The expected number of heads 1s :

A 1
B 32
c. 3 &
D. 4 a!
60

If for a Poisson distributed random variable X, the m@?{umy for X taking vi lue
2 is 3 times the probability for X taking value 4, thc&@ variance of X is

QO
’E%
9

OOwpe
CR TR

Q\é

Assume that the probability for 1@@:\ a day is 0.4. An umbrella salesmat
T 400 per day in case of rain at day and will lose T 100 per day %

rain. The expected eummg&% ) per day of the salesman is

A 400 b@
B. 200 >
C. 100 &0
D 0
O$

let X 9 normal  distribution with mean _:_;‘:'
If P(a < X < 25]= 04772 and that the cumulative norma

09772 thena ="
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' m, %ﬂme{)é gnd B 18 sister of A

29.

D. Son-inlaw -

30 1n“iven that “A is the mother of B; Bunhe sister of C; C(qlthaﬁtberbfn" How

' is Arelated to D? &
: % 5

& Brwsfnotlner (\\Q L \
C. Aunt
D. Sister b\\

B ﬂd to M as, “the girl, | met at the was the youngest daughter of the
i brother-in-law of my friend’s mother”. H the girl related to R’s friend?

A Cousin Q
y i &

32 “PRQR B. 'l‘. U are 6 r‘&&‘s of a family in which there are two married couples,
T | doctor who is mother of R and U, Q the lawyer is married

he grandson. Of the two married ladies one is a housewife.
dent and one male engineer in the family. Which of ﬁn

t the granddaughter of the family?

arranged its students data in accordance with d
it of data is known as
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36.

TSW
The sum of serios 7+ 14+ 21 + . to 17 term n !

A 1071
B 71

cC. un
D 12n

Out of a group of 20 teachers in a school, 10 toach Mathematics, 9 tench Physics and
7 teach Chemistry, 4 teach Mathematios and Physies but none tonch both
Mathematics and Chomistry. How many tench Chemistry and Physics; how many

tonch only Physics?

A. 33
o~

B 32
C. 4.6 C
D 64 \Q"'o
O

Q
The sum of first n terms of an AP is an" + 5n0®Nr|e| is:
A 8.14,20,26 ... (b@\
B. 8 922 4268, ... S

C. 22,68 114, ...

D. 8 14,28 44, ... D
D

If a is related to b if and only if the difference in @ and

relation 1s

A. symmetric, reflexive but not transitive
B. symmetric, transitive but not reflexive

(. transitive, reflexive but not symmetric
D. equivalence relation
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39.

41

43,

studynotes.com

nee in roots 1 o
and the differ®

T5W

ire untion
then the equation 18
3’ ¢c]¢20' 0
o ~Bax-20" =0
 -gax+ 20’ =0
:'#30!’20"0

ocoRy>

acd ned ned .
8 *3 ‘2 is:

mv‘lmd 5l6.*e.

A 232 &
B 242 %9

. 252
> x

D. 262 3
artmen ber of males and fem {:mintlwrat'ma:z. If two males 1
'n:;:':mdu jc:i'na;:::mcu: lzeutbu mes 1 : 1, initially the number of
&)

female in the department is R

TOowm»
= U WY
-

s multiple choice question paper consisti i
J . ng of 100 questions h,
candidate get 60% marks. If the candidate attempted all quuﬁn:f ‘:‘dm:}:‘:r: id:., :

penalty of 0.25 marks for wr .
answers and wrong answers is :ng answer, the difference between number of right
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45.

46,

The -
probability disteibution of a random variable ¥ is IWIII bol;m
x 1 3 4 6 6
P oo1s 026 02 03 01

What is the standard doviation of ¥?

A L4 |
B. 156
C 169
D. 172

The manufacturer of & cortain elootronio

. component in certain thag 2% of his product
18 defective. He solls the com onents in boxes - maore
;hng 2‘: in any box will be dol':ctiw. - 'u(, e

‘ind the probability that a box, selected at d meut
guarantee? (Given that ¢4 = 0,0007) 43 o{b@m“ . <

A 049 O
B. 049 b\\{\
C. 047 QO
D 043 @)

O’b

Inn group of 20 males and 15 femalex®™ males and 8 females are service b
What is the probability that a per lected at random from the group i 8
holder given that the selocted pe 18 n male?

A 040
B. 060 Q\o
C. 046 S
D. 055 b?)
>

There are 3 h the following composition
Box I: 7 Red + ite + 4 Blue balls
Box 1I: 6 R&?B White + 3 Blue balls

Rl

Box III : + 3 White + 2 Blue balls
One of the boxes is selected at random and o ball is drawn from &

What is the probability the drawn ball is red?

A, 1249/3024
B. 1247/3004
C. 1147/3024
D. 172

TSW
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e 70 and mbined
i co
e group m'ui-ao.umpofborm an
e I:wi.%..rkﬂ::lrl:awmlgmm“w'wup?
A 21
B. ;g
G
'- D. 19 . ‘ 0@
| 50. lftwovuitblesaundbmmhudbjc-"dth_i:@' of ¢ is equal to T
A GMofa+GMofd 70
B. G.M.da!G.M.db A z
¢ GMofa-GMofb \}b =
D G.M.ofalG.M.afb %\,
51 Fotlmodonnlym &&mmﬁan is twice the mean, then the mode
' is " times the
A 8 Q
B. 2 N
0 2/3 \0
p 3/2 bQ
@ 3
52 The median S thntofommdaw.n.&'. 19. 66, 56, 91 18
A &3 N
o +
b R , i
53. The marks secured by 5 students in a subject are b aa s R
deb" o
a- 0.12 i N EI|
C.
D.
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55. mwhpmm:mum-w+fla.mm§mmhmhhm-
at x = = . @)
A b ' O\Q;o’
B 10
o 20 : b\\(\
D. 50 QO
,09
O
x* ‘ w " &‘
58. If y == then == is oqual to: $$
A a-a)e T 0‘&
B. .:'(4.- x)/e* 6Q\
C. x'(4a-x)le* Q@
D. x"4x-1)/ (o3
&éb ~
57. The npeed@ train at a distance x (from the starting point) is Mﬂ, '7

What is the rate of change (of distance) at x = 17

Sow

-1
0
I
2

TSW
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61.° If th
¢ data points of (X Y) seri
A, T) series on a se ' . ‘
Boes downwards as X.values move fr:rtnwi (:‘:"gmm‘ b o Sicaight lioe that
correlation. eit to right, then the dats exhibit
A, Direct
B.  Imperfect indirect
C Indirect
D.  Imperfect direct
62. : 3 I3
:: renowned hospltll! unually admits 200~pahent4 everyday, One percent patients,
fn an average, require sl_mcul room facilities. On one particular morning, it was
ounc! that only one special room is available, What is the probability that more than
3 patients would require special room facilities?
A, 0.1428 O(Q
B. 01742 (o.c’
C. 0.2235 xQ
D. 0.3450 (\O
63. For any two varinbles x and y the regression Q@Qonn are given as 2x + 5y -9
and 3x - y =5 = 0. What are the A.M. or@y? i
. O
A 21 Q3
B, 1,2 &
C. 4,2 Q
D. 24 N
\O
64. The intersecting point ofgwWy regression lines falla at X-axis. If then
is 16, the standard d%&ms of X and Y are respectively, 3 andd
Y-values is
A 163 &)
B. 4
c 0 P
D. 1
65. The regression coefficients remain unchanged d "

A.  Shift of ongin
B. Shift of scale

C.
D.

Always
Never

Downloaded Frqn;
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Integrate with respect to ¥, 1 fetion =)
Downloaded From www.castudynotes.com
A =1llogx+k

B. 1llogx+k

C. logx
D .'%

- 2
72. If MOUSE is coded as 34651 and KEY is coded as 217, then how will YES be coded”

A T15

. B. 517
C. 175

D. 571

73. What comes at the last place in R, U, X, A D, ?
A E 00(°

=R e

74

b\\(\
missing term of the series 4, 13, B

=Kok ? CaE

$
75. i

76. A person Qlks 1 km (kilometre) towards West and then he

walks 5 km. Again, he turns to West and walks 2 km. After this
and walks 9 km. How far is he from his starting point?

3 km

Sow
o
R.
=
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84.

B.  Time Reversal Test
C.  Factor Reversal Test
D. Circular Test

The weighted averaged of price relatives of commodities, when the weights are equal
to the value of commodities in the current year, yields —————— index number.

A.  Fisher's ideal
B. Laspeyres's

C. Paasches’ 0’6\
D.  Marshall-Edgeworth @)
From the following data base year: ,\\,Q’% |
Commodity Base year l@f'ﬂmt year 1
Price | Quanti ice | Quantity
A 4 3%\. 6 2
0 5 o 6 4
. C 7 © 2 9 2
D é 3 1 5

Fisher's ldeal Index is
06\

A 117.30 &S
B. 11543 b
C. 11835 b@
D. 11648
o
Index number& not helpful in
A, FranaQ¥ economie policies
B. ReQali.ng trend
C. Forecasting

D. Identifying errors

The three index numbers, namely, Laspeyre, Paasche and F
test

A. Time reversal
B. Factor reversal
C. Unit

D. Circular

TSW
Downloaded From www.castudyn. 0
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89.

90.

Marks: | Below 10

e of +

100

No. of students: | 15

38 65 e

How many students got marks more than 307

mmaum-um&emaammms“@“-
54 38 21 43 mo)ﬁ

39 26 12 173@19

A 65

B. 50

C. 3

D. 43
10
51

17
28
43

EE&E"&58 8

wmmmm.qmdmiﬁquﬁ

36 15 33 30 q@m 17

45 46 43095 57 38

A 0.20,0.50,0.90 0@
Q

B. 0.70,0.90, 1.10
C. 0.1875, 0.1667, 0.

D. 0.90, 1.00, o.aan,
o

27 17 16
2 16 46 28 45

class intervals 30-39, 40-49, 50-597

Given that megRS70.20 and mode = 70.50, the median is expected to be

A 7015

B. 70: ©
C 7

D. 7035

Multiple axis line chart is considered when

A, There is more than one time series

B.  The units of the variables are different. |

C. In any case,

D.  If there are moro than one time series and unit

TSW
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certain code “THANKS" is written as

ol Ifina
written?
A, DIPUTS
B. DISPUT
C. DIPUST
D. DIPSTU
92 Daily in the morning the shadow of a Clock Tower installed on Railway Station falls

on high rise Mall and in the evening the shadow of the same Mall falls on the Clock

Tower installed on Railway Station exactly.
So in which direction is Clock Tower to Mall?

A. Eastern side

B. Western side '
C. Northern side 0@
D. Southern side @)
&
93. R’soﬁceisdkmin&stdimﬁm&omhin ¢club is 4 km in North direction
starts moving towards his home

from his home. On midway from office to clu
lnwhichdirecﬁonishetncinghiabuk? \\>

A South-East 2
B. North-West O

C. North-East N

D. South-West \$$

i ks 4 miles towards North and turns left and walls

for 3 miles and again turns right and walks 4 mil
thutes. He gets up and walks straight 2 miles in the sai
direction and : t and walks one mile. What is the direction he is fact

94. A man starts from a

The hour hand of a clock 1s in west direction when time is 3 ‘;j’.i:_"
direction of minutes hand when time is 6:457 :

A. East
B. West
C. North
D. South
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